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Do your answers look like these? 

 

1. How many computers are there in the literacy area? 

There are 5 computers in the literacy area. 

The key tells you that each means ‘computer’. 
 

2. How many computers are there in the numeracy area? 

There are 3 computers in the numeracy area. 
 

3. The office measures 5.5 m in length and is 3.2 m wide. What is the length of the library? 

The library is 7.5 m in length. 

 
 

4. What is the width of the library? 

The library is 4.5 m wide. 

 


